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eth0 eth0 eth1 (global)
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S1 SW1 eth App4
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eth2
(global)
Flows: Directions:
F1: - F1, on-node: S1, via eth0, probability: 1.0, default
— source: App1 . .
. . — F1, on-node: SW1, via eth2, probability: 0.5
— destinations: App2, App3, App4 - F1, on-node: SW1, via eth1, probability: 0.5
- F1, on-node: SW2, via eth1, probability: normalize(0.2)
- F1, on-node: SW2, via eth2, probability: normalize(0.3)
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— source: App1 etho
— destinations: App2, App3, App4 o -
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Flows:
F1:

— source: App1
— destinations: App?2

eth2

90% of SW_X traffic

Directions:
- F1, on-node:

- F1, on-node:
- F1, on-node:

- F1, on-node:
- F1, on-node:

- F1, on-node:
- F1, on-node:

- F1, on-node:
- F1, on-node:

S1, via ethO, probability: 1.0, default

SWi1, via eth1, probability: 0.5
SWi1, via eth2, probability: 0.5

SW_X, via eth1, probability: 0.9
SW_X, via eth2, probability: 0.1

SW_U, via eth1, probability: 1.0, default
SW_D, via eth1, probability: 1.0, default

SW2, via eth1, probability: normalize(0.2)=0.4
SW2, via eth2, probability: normalize(0.3)=0.6

10% of traffic

SW_U

eth1

SW_D
90% of traffic

eth3 eth1
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th2
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ethO

50% of App1 Traffic
(global)

App2
S2

Directions:
- F1, on-node

- F1, on-node
- F1, on-node

- F1, on-node
- F1, on-node
- F1, on-node

: S1, via eth0, probability: 1.0, default

: SW1, via eth1, probability: 0.9
: SW1, via eth3, probability: 0.1

: SW_U, via eth1, probability: 1.0, default
: SW_D, via eth1, probability: 1.0, default
: SW2, via eth1, probability: 1.0, default




